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n figure (5) is equal to 4.0 A, then the potential difference between

Q#1: If the current 1 1
point 1 and 2, i.e. (V2 V1), is: (A. 40 Volts.)
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Q#2: In Figure 2, R1 = R2= R3
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Q#3: A 1.0 }LF capficitor with an initial stored energy of 0.50 J is discharged through a
1.0 M Q resistor. Find the current through the resistor when the discharge starts.(Ans; 1.0

mA) . o 7
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Q#1: Consider the circuit shown in Figure 7. When the capacitor is fully charged the
current [ is 3.00 A. What is the charge on the capacitor if its capacitance is 10.0 pF?
(Ans: 150 uC)
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Q#2 In the circuit of FIGURE 3, the current I1 = 3.0 A. What is the value of current 137
(Ans: 5A)
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Q#3 A capacitor of 4 x 107 F capacitance is discharged through a 4 kQ resistor. How
long will it take for the capacitor to lose half its initial stored energy? (Ans: 5.55)
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Q#1: The potential at point P shown in figure 1 is 20 V. What is the potential at point
Q. (Ans: -18 V)
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Q#21 Three resistors and two batteries are connected as shown in the circuit diagram
below. What is the potential difference Va — Vb‘7 (Anse5Vy——=
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Q#t3A power supply charges a 6.00-uF capacitor to a potential difference of 100 V. The
power supply is removed and the capacitor is connected to a 1.50 k<2 resistor at time t =
0. What is the potential energy stored in the capa01tor att=2.00 ms? (Ans 192 mJ)
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Q#1: If Q= 400 pC and the potential difference VA-VB =-30 V in the circuit segment
shown in Fig. 3, what is the current in the resistor R? (Ans: 1.0 mA counterclockwise)
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Q#2: Find the current in 8. 00-Q resistor in the circuit shown in Flgx\rre 47 (Ans: 2.25 A( o Al
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Q#3 A certain capacitor, C, in series with a resistor, R, is being charged. At the end of 10
ms its charge is half the maximum value. The time constant of the RC circuit is: (Ans: 14
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Q#1: In Figure 10,6, =4.0 V,5=12V,R1=40Q,R2=12Q,C=3.0 uF, Q=18 uC,
and I=2.5 A. What is the potential difference Va — Vb? (Ans: =30 V)
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Q#2 Q13. A single loop circuit contains two external resistors and two emf sources as
shown in the figure. Assume the emf sources are ideal, what is the power dissipation
across resistor R1 (Ans: 0.9 W)
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Q#3: “In the circuit shown in Figure 4, the capacitor is initially uncharged. Attimet=0,
switch S is closed. If T denotes the time constant, the approximate current through the 3 Q2
resistor when t = /10 is: (Ans: 1.0 A)
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Q#1. Two ideal emf sources along with two resistors are connected as shown in the
following figure. If the potential at A is 150 V, what would be the potential at point B?
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Q#2 In the circuit shown in Figure 6, €1 =6.00 V, €2 = 120 V,R1=200Q,and R2 =
100 Q. What is the power supplied by €1? (Consider the two emf to be ideal). (Ans:

1.08 W)
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Q#3: A capacitor of capacitance C takes 2 s to reach 63 % of its maximum charge when
connected in series to a resistance R and a battery of emf ¢. How long does it take for this
capacitor to reach 95 % of its maximum charge (from zero initial charge)? (Ans: 6 s)
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